HEAVY DUTY MUDGUARDS oetiom.

FOR Y LARGE
PART NUMBER: 400953

One set contains the following parts:

2 x Mudguard stay right
2 x Mudguard stay left
2 x Mudguard blade

Fixing parts - Mudguard Blade to Stay:
8 x M5x12mm

8 x Washer M5

8 x Nyloc nut M5

Fixing parts - Stay to Frame:
4 x Bolt M5x45mm
4 x Washer M5

/ 4 x Nyloc nut M5

These mudguards protect luggage from road
spray - only for Y large 20” wheels.

Mudguards 65mm wide, 2mm thick aluminium
with tread plate pattern. Stays are 3mm thick
stainless steel. All fittings are stainless steel.

HOW TO FIT THE MUDGUARDS

1) Remove the trailer wheel and lightly tighten
the mudguards in place so they can still move.

2) Re-fit the wheel.

3) Adjust their position so that the wheel is
centered on the mudguard, and so that left and
right are in equal position.

4) Tighten the mudguards in their final position,
make sure the top and bottom bolt are evenly
tightened by the same amount.




